




•

•

•
Θ log2 𝑛

2)
Θ(𝑛 ∗ log2 𝑛)



• MergeSort(𝑆)
Length(𝑆) > 1

Szétvág(𝑆, 𝑆1, 𝑆2)

MergeSort(𝑆1)
MergeSort(𝑆2)

Összefuttat(𝑆1, 𝑆2, 𝑆)



• MergeSort(𝐴, 𝑘, 𝑣)

•
• MergeSort(𝐴, 1, 𝑛)

•

𝑘 < 𝑣

ℎ ←
𝑘 + 𝑣

2
Szétvág(𝑆, 𝑆1, 𝑆2)

MergeSort(𝐴, 𝑘, ℎ)
MergeSort(𝐴, ℎ + 1, 𝑣)

Összefuttat(𝐴[𝑘, ℎ], 𝐴[ℎ + 1, 𝑣], 𝐴[𝑘, 𝑣])



•

•
• 𝑛

• MÖösszefuttat(𝑛) = 𝑛 − 1

• MÖMS 𝑛 ≤ (𝑛 − 1) ∗ log2 𝑛 = Θ(𝑛 log2 𝑛)



𝐴[1. . 𝑘]

𝐵[1. .𝑚]

𝐶[1. . 𝑘 + 𝑚]

3 5 9 21 23 42

4 11 16 29

3 4 5 9 11 16 21 23 29 42



𝐴 = 𝑎1 < 𝑎2 < ⋯ < 𝑎𝑘

𝐵 = 𝑏1 < 𝑏2 < ⋯ < 𝑏𝑚

𝐶 = 𝑐1 < 𝑐2 < ⋯ < 𝑐𝑚+𝑘



•
•

•



•
1. 𝐴 𝐵 𝑈
2. 𝐴 𝐵 𝑉

• 𝑘 = 𝑚 𝑘 = 𝑚 + 1

𝐴 = 𝑎1 < 𝑎3 < 𝑎5 < ⋯

𝐵 = 𝑏2 < 𝑏4 < 𝑏6 < ⋯
𝑈 = 𝑢1 < 𝑢2 < 𝑢3 < 𝑢4 < ⋯

𝐴 = 𝑎2 < 𝑎4 < 𝑎6 < ⋯

𝐵 = 𝑏1 < 𝑏3 < 𝑏5 < ⋯
𝑉 = 𝑣1 < 𝑣2 < 𝑣3 < 𝑣4 < ⋯



𝑈 𝑉
𝑢𝑖 𝑣𝑖 1-1

• 𝑢1, 𝑣1 , 𝑢2, 𝑣2 , 𝑢3, 𝑣3 , …

•



•

A 1 4 5 7 11 12 14 20

B 2 3 6 10 13 15 16 17

A 1 5 11 14

B 3 10 15 17

U 1 3 5 10 11 14 15 17



•

A 1 4 5 7 11 12 14 20

B 2 3 6 10 13 15 16 17

A 4 7 12 20

B 2 6 13 16

V 2 4 6 7 12 13 16 20



• 𝑢1, 𝑣1 , 𝑢2, 𝑣2 , 𝑢3, 𝑣3

U 1 3 5 10 11 14 15 17

V 2 4 6 7 12 13 16 20

1 2 3 4 5 6 7 10 11 12 13 14 15 16 17 20



•
• 2-2

• 𝑘 𝑚

• 2 1

𝑘 = 1 𝑚 = 1

• 1
0 𝑘 = 1

𝑚 = 0



•
•

𝐶 = 𝑐1 < 𝑐2 < ⋯ < 𝑐𝑚+𝑘

•
𝑐1 = min 𝑢1, 𝑣1 , 𝑐2 = max{𝑢1, 𝑣1}

• 1 ≤ 𝑖 ≤
𝑘+𝑚

2
𝑐2𝑖−1 = min 𝑢𝑖 , 𝑣𝑖 , 𝑐2𝑖 = max{𝑢𝑖 , 𝑣𝑖}



•

𝑘 = 𝑚 𝑘 = 𝑚 + 1
𝑘+𝑚

2
= 𝑚

• 𝑘 +𝑚
𝑐𝑘+𝑚

•
𝐶

𝑐1, … 𝑐2𝑘 𝑢𝑖 𝑣𝑗
𝑈 𝑉 𝐶



• 𝐶 𝐴 𝐵

•
• 𝐴 𝑎1, … 𝑎𝑠
• 𝐵 𝑏1, … , 𝑏2𝑘−𝑠
• 𝐶 2𝑘



• {𝑐1, … 𝑐2𝑘} = {𝑎1, … 𝑎𝑠} ∪ {𝑏1, … 𝑏2𝑘−𝑠}

𝑠/2 (2𝑘 − 𝑠)/2𝑠/2 (2𝑘 − 𝑠)/2



•

• 𝑠/2 + (2𝑘 − 𝑠)/2 𝑠/2 + (2𝑘 − 𝑠)/2
• 𝑠

• 𝑠

•
𝑠+1

2
+

2𝑘− 𝑠+1

2
=

𝑠−1

2
+

2𝑘− 𝑠−1

2



• {𝑐1, … 𝑐2𝑖} = {𝑢1, … 𝑢𝑖} ∪ {𝑣1, … 𝑣𝑖}

• {𝑐1, … 𝑐2 𝑖−1 } = {𝑢1, … 𝑢𝑖−1} ∪ {𝑣1, … 𝑣𝑖−1}

•

• {𝑐2𝑖−1, 𝑐2𝑖} = {𝑢𝑖 , 𝑣𝑖}

• 𝑐2𝑖−1 < 𝑐2𝑖

•
• 𝑈 𝑉



•
•

1

𝑛

A B

𝑛

𝑛

2

𝑛

2



• 𝑈 𝑉
𝑛/2

𝑈 𝑉

• 𝑈 𝑉
𝐶

• MÖPPM 𝑛 MÖPPM
𝑛

2
+ 1

•

• 𝑇 𝑛  𝑇
𝑛

2
+ 1 , 𝑇(1) = 0



•

• 𝑛 = 21

• 𝑇 21 ≤ 𝑇 11 + 1 ≤ 𝑇 6 + 1 + 1 ≤ 𝑇 3 + 1 + 1 + 1
≤ 𝑇 2 + 1 + 1 + 1 + 1 ≤ 𝑇 1 + 1 + 1 + 1 + 1 + 1 =
= 0 + 1 + 1 + 1 + 1 + 1 = 5 = log2 21

• 𝑇 21 ≤ log2 21
• 𝑣 2𝑣 < 𝑛 ≤ 2𝑣+1

𝑣 + 1
𝑇(1)
• 𝑣 + 1 𝑇 𝑛 ≤ log2 𝑛

•





•

•
• 1

𝑝 < 𝑞

𝑟 ← 𝑝 + 𝑞 /2

BatcherSort(𝑆, 𝑝, 𝑟)
BatcherSort(𝑆, 𝑟 + 1, 𝑞)

PP_Merge(𝑆 𝑝…𝑟 , 𝑆 𝑟 + 1, …𝑞 , 𝑆[𝑝, … 𝑞])



• ÖBatcher 𝑛 ≤ ÖBatcher( 𝑛/2 ) + log2 𝑛

•
• 𝑇 𝑛 ≤ 𝑇( 𝑛/2 ) + log2 𝑛

•
log2 𝑛

• 𝑇 𝑛 ≤ 𝑇
𝑛

2
+ log2 𝑛 ≤

𝑇
𝑛

22
+ log2

𝑛

2
+ log2 𝑛 ≤ ⋯

≤ 𝑇(1) + 1 + 2 +⋯ ( log2 𝑛 − 1) + log2 𝑛 =
log2 𝑛 + 1 ∗ log2 𝑛

2


log2 𝑛
2

2
= Θ log2 𝑛

2



•

• log2 𝑛/2 = log2 𝑛 − 1
• 𝑛 = 2𝑝

• 2𝑝 < 𝑛 ≤ 2𝑝 + 1

• 2𝑝 − 1 <
𝑛

2
≤ 2𝑝

• 2𝑝 − 1 <
𝑛

2
≤ 2𝑝

• 𝑝 − 1 < log2
𝑛

2
≤ 𝑝

• log2
𝑛

2
= log2 𝑛 − 1





• 𝑛 1 𝑘

• 𝑥
𝑥

• 𝑥

• 𝐴[1. . 𝑛] 𝐵[1. . 𝑛]
• hossz[𝐴] = hossz[𝐵] = 𝑛

• 𝐶[1. . 𝑘]



𝐴 𝑖
𝐶[𝑖]

𝑖 1. . 𝑘
≤

𝐶

𝑖 𝑛. . 1 𝐴[𝑖] 𝐵
𝐶

• 𝐶[𝐴[𝑖]]



• 𝐴 𝐶
• 𝐶 𝑖 𝑖

• 𝐴 𝑖 𝐶[𝑖]

•

•

3 6 4 1 3 4 1 4

2 0 2 3 0 1



• 𝑖 1…𝑘
≤ 𝑖 𝐶

•

•

3 6 4 1 3 4 1 4

2 2 4 7 7 8



• 𝑖 𝑛 …1 𝐴[𝑖] 𝐵
𝐶

•

•

•

3 6 4 1 3 4 1 4

2 2 4 7 7 8

4



• 𝑖 𝑛 …1 𝐴[𝑖] 𝐵
𝐶

•

•

•

3 6 4 1 3 4 1 4

2 2 4 6 7 8

1 4



• 𝑖 𝑛 …1 𝐴[𝑖] 𝐵
𝐶

•

•

•

3 6 4 1 3 4 1 4

1 2 4 6 7 8

1 4 4



• 𝑖 𝑛 …1 𝐴[𝑖] 𝐵
𝐶

•

•

•

3 6 4 1 3 4 1 4

1 2 4 5 7 8

1 3 4 4



• 𝑖 𝑛 …1 𝐴[𝑖] 𝐵
𝐶

•

•

•

3 6 4 1 3 4 1 4

1 2 3 5 7 8

1 1 3 4 4



• 𝑖 𝑛 …1 𝐴[𝑖] 𝐵
𝐶

•

•

•

3 6 4 1 3 4 1 4

0 2 3 5 7 8

1 1 3 4 4 4



• 𝑖 𝑛 …1 𝐴[𝑖] 𝐵
𝐶

•

•

•

3 6 4 1 3 4 1 4

0 2 3 4 7 8

1 1 3 4 4 4 6



• 𝑖 𝑛 …1 𝐴[𝑖] 𝐵
𝐶

•

•

•

3 6 4 1 3 4 1 4

0 2 3 4 7 7

1 1 3 3 4 4 4 6



• 𝑖 𝑛 …1 𝐴[𝑖] 𝐵
𝐶

•

•

•

3 6 4 1 3 4 1 4

0 2 2 4 7 7

1 1 3 3 4 4 4 6



for i1 to k do
C[i]0

for i1 to hossz(A) do
C[A[i]]C[A[i]]+1

for i2 to k do
C[i]C[i]+C[i-1]

for ihossz(A) downto 1 do
B[C[A[i]]]A[i]
C[A[i]]C[A[i]]-1



•
• Θ(𝑘)

• Θ(𝑛)

• Θ(𝑘)

• Θ(𝑛)

• Θ(𝑘 + 𝑛)
• 𝑘 = Θ(𝑛) Θ(𝑛)

•
• 





•
𝐴[1. . 𝑛] 𝑚 𝑈
•  𝐴[𝑖] 𝐴[𝑖] ∈ [1. .𝑚]

• 𝑈 𝐵 𝑚

• 𝐵



• 𝐴
𝑠 = 𝐴[𝑖] 𝐵[𝑠]

• 𝐴[1. . 7]
0 9

•

•

5 3 1 5 6 9 6

1 3 5
5

6
6

9



•
𝐵 𝐵[𝑖] 𝐴

•

• 1 3 5 5 6 6 9

1 3 5
5

6
6

9



•
• 𝐵 𝒪(𝑚)

• 𝒪(𝑛)

• 𝒪(𝑛 +𝑚) 𝒪(𝑛 +𝑚)

•
• 𝑚 ≤ 𝑐 ∗ 𝑛



•
• 𝐾 𝑆 𝜑: 𝐾 →
[0…𝑀 − 1] 𝜑(𝑘1) < 𝜑(𝑘2)

𝑘1 < 𝑘2
• 𝐸0, 𝐸1, … 𝐸𝑀−1

𝑆

• 𝑆



•
𝐸0, 𝐸1, … , 𝐸𝑀−1 ← 𝜀, 𝜀, … , 𝜀

𝑆 ≠ 𝜀

Out(𝑆, 𝑥)
𝐼𝑛(𝐸𝜑 𝑥 , 𝑥)

𝑆 ← Összefűzés(𝐸0, 𝐸1, … 𝐸𝑀−1)



•

•
𝑖[0,𝑀 − 1]: 𝐸𝑖 ≤ 1

•
•

•

• Θ(𝑛) n = 𝑆
•

•



•
𝑡1, … 𝑡𝑘 𝑡𝑖

𝐿𝑖

• (𝑈;<)

• 𝐿1 = 1900; 1901;… ; 1999 𝑛1 = 100

• 𝐿2 = január, február,… , december 𝑛2 = 12

• 𝐿3 = 1; 2;… ; 31 𝑛3 = 31
• 𝐿𝑖



𝑘

𝑘 − 1

•

•




•
• 𝑋 < 𝑌 𝑖 − 1
𝑥𝑖 < 𝑦𝑖 𝑖 𝑋

• 



•



•

•



•
• 𝑒 = 𝑒𝑑𝑒𝑑−1…𝑒2𝑒1

• 𝑖 𝜑𝑖 𝜑𝑖(𝑒) = 𝑒𝑖
• 𝑖 𝑆 𝑖



•
• 𝑖 𝑥 ≤𝑖 𝑦

• 𝑥 = 𝑥𝑑𝑥𝑑−1…𝑥2𝑥1 𝑦 = 𝑦𝑑𝑦𝑑−1…𝑦2𝑦1 𝑥 <0 𝑦

• 𝑥 ≤𝑖 𝑦𝑥𝑖 < 𝑦𝑖 𝑥𝑖 = 𝑦𝑖 𝑥 <𝑖−1 𝑦 𝑖 > 0

•

•
• 2 ∗ 𝑑 𝑆

𝑇(𝑛) = Θ(𝑑 ∗ 𝑆 )



•

𝑖 ← 1

𝑖 < 𝑑

Edenyrendezo(𝑆, 𝜑𝑖)
𝑖 ← 𝑖 + 1



•
• 𝑆

•

•

•




